Consider 1he following statements .

1. All valid arpuments contain only true
premises and a true conclusion.

2. Some vahd arguments contain only
false propositions-false premises and
a truc conciusion.

3. All valid arguments contain only falsc
propasitions-all premisces are false,
conclusicn is false as well.

Which of the above stalements 15 ¢comect 7

(a) 1
(b 2
€y 3

{(d) MNone of the above

MMost aclors are celebnties.,
Aruna 15 an aclor.
Tierciore Aruna is a eclebrity.

T'he above argument is :

(a) deductive argument only

(b} inductive argument only

{¢) bothinductive and deductive argurm. ot

{d) ncithcr inductive nor dcd ¢ v
arfFuTneni

I *All youngsters are cricket love 7 '~ lrue,
then what can be inferr a4 » .ou truth or
falsity ol the following ?

[.  Nuyounpsters are cricast lovers.

2, “ome youn, ‘=1 are cricket lovers.
3. Some yw. ~s °rs are not cricket lovers.
4, N -un sters are non-cnickel lovers.

Select “he “on ot answer using the code
given wloy

(a) .- false, 2 is true, 3 ix false and 4 1
‘T

{b) 1 1s true, 2 15 trae, 3 15 false and 4 15
true

(¢} 1 is false, 215 (alse, 3 is true and 4 is
false

{d) 1 is false, 2 is true, 3 15 true and 4 is
true

Consider the following :

1. True premises do not guarantee
validity.

2. A true conclusion does not guarantee
validity.

3. True premises and a true ¢~ ~clusion
together do not guarantee  slidi

Which of the above are corme v 7

{a) 1and 2 only

{(b) 2and 3 only

(c) 1and3 only

dy 1,2ap'?

Maick T3s. 1 v th List-l] and selcct the
corre 't ans wer using the code given below
“ag NSy

List-f Lisr-fF
A, AllSisD 1. S§P=0
B, Some 5is P 2. SP=0
C. NoesisP 3. 8P=90
D. SomeSisnotP 4. SP=0
Code
A B C D
@ 1 2 3 4
2 1 4 3
¢y 1 2 4 3
(dy 2 1 3 4

Which one of the following 15 comrect 7

{a) When ‘A’ is false, ‘E’ is false and ‘O
is true '

(b) When ‘B’ is doubtful, 'A’ 15 true and
‘1" 18 false

{¢c) When*Q"istrue, 'E”is false and *I" is
false

(d) When ‘I’ is true, “E’ is false and A’ is
doubtful

(Contd.}
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Particular affirmative proposition :

(a} makes claim only aboul the subject
class

b} makes claim only about the predicate
class

fc) makesnoclaim about the subject class
and predicate class

{d) makes claim that the subject ¢lass and
the predicate class have some members
in common

Match Lisi-1 wath List-[1 and select the
correct answer using the code given below
the lists :

Liss-d List-ff
(Valid Syilogism)} (Figure)
A AAA 1. Fig.-ll
B. AQO 2. Fig-l
C. 0AQ 3. TFig.-1V
D 1Al 4, Fip.-li
Code ;

A B C D
B 2 1 3 4
1 2 1 4
) 2 I 4 3
@t 2 4 3

Allis invalid in Fig.-11 ber aux ;

(a) It commits the fallacy
middle

() Ticommits th - %l awy of illicit major

(e} Hecommis M= "allacy of illicit minor

(d) F com ~it: the existential fallacy

“up Jistributed

Which e ~ the following statements is

con Tt

{«. 1 1ou.ais determined by the position of
.. middle term in a syllogism

{b) Figure is determined by the position of
the middic term in a syllogism

{¢) Mood is a psychological state and has
nothing to do with syllogism

{(d) Mood and figure are irrelevant in the
contexl of syllogism

_4_.._

il

12,

Which one of the following statcments is
comect 7

fa) All syliogisms are arguments, but not
all arguments are syllogisms

(b} All syliopisms are inferences. but not
all inferences are syilogisms

{¢) Only arguments having t ~o ‘rem)ses
are syllogisms

(d) Only inferences ha 'ing 1 ‘0 premises
are syllogisms

Mo cows are -7, N0 cOWS are Camivorous.
Therefare a ' Jop  are camivorous.
This a ~ume 1115 ;

{1} w “d because rminor lerm is distributed

L1 1he conclusion
{0} wvalid because premises are irue

(¢} walid because {irst premise and
conclusion are true

{d) invalid because of its form

Consider the foliowing argument -
All dogs are mammals.

All cats are mammals.

Therefore all cats are dogs.

The validity ofthe above argument 15 1es1ed
by shading :

PM and SPM

')

(a) SPM,
() SPM, 5PM and SPM
(c} SPM, SPM and SPM
(d) SPM, SPM and SPM

{Contd.)
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14. Which one of the following statements 15

135,

1.

correet 7
fay In a valid syllopism the middle wemmn

needs to be distributed at least once.

(b) Inavahdsyllogism allihe ocourrences
of the middle 1erm need to be
distributed.

{c} In a valid syllogizm the middle term
needs to be distnibuted 1o the major
premise.

(d) In a valid syllogism the middle term
needs 10 be distributed in the minor
premisc.

Consider the following argument :
“All dogs are mammals.

Mo dogs are cats.

Thercfore no cats are mammals.”

What 1s the type ol the fallacy in the above
argument ?

{a} Fallacy of illicit major

{b) Fallacy of illicit minor

{c} lallacy of undisiributed miou
(d} Fallacy of four-terms

Any tenn distributed "1 the conclusion muost
be distributed . ‘he premises. Which
fallacies are on. >m.tew . f the above rule is
viclated !

1. N~ ay

2. Il ~itm.sor

? Ul stmbuted middle

4. ,.clusive premises

Sclcct the correct answer from the code
given below

{a) 1and4d

(b} 1 and 2 oniy

(¢} 1,2and3

{(d) 2,3 and 4

17.

18.

19,

Which one of the following statements is
false ?

(2} WNoreal connection bebween antecedent
and conscquent is suggesied by
material implication

{b) Matecrial

decisional connection b twee . the

implication .. nres. =g

antecedent and cons :ques.

{c) Matenal implic .oon 1. “Lterent {rom
definitional co. nect on belween the

anteced ... \nd ronsequent

fdy Mpt=ri.' emr ication is different from

¢. ugal connection between the

Tl uent and consequent

Wha. 15 the central 2im of deductive logic ?
{a) Tosymbolize the arguments
{b} To symbelive the statements

{cy To discriminate valid arguments {fom
invalid arpuments

{d) To discriminate good arguments from
bad arguments

Consider the following statements :

I, Ifboth premises are particular, then no

conclusion [ollows,

2. From two negative propositions only

a negative conclusion can be derived.

Which of the above statements isfare
correct ?

fa) 1 only

by 2 only

{c} Bothiand?2
{d) Neither 1 nor2

{Contd.)
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20.

21.

22,

23

Syllogistic form AOO in Figure-IV can mot 24,
be valid becausc it involves the fallacy of :

(a)
)
(¢} negative premises

{dy undistributed middle

illicit major

illicit minor

For every truth functional invalid argument,

the corresponding conditional staternent will
be

(a) atautology only
(b) either a contradictory or a tautology
(Y either a contingent or a contradictory

{d} either a tautelogy or a contingent

The denial of contingent proposition leads

to :

(a) a self contradictory propositii n
(b) =2 tautoiogous proposit'

(c) = contingent propositi © .

{d) a necessary prop. sition

26,

If the maj. . ~ >mise of a syllogism is
partigy 'ar .~ ative propasition, then the
argu ..\ will be in the :

(a)
(t) Thurd Fipure

. urth Figure

(¢} Second Figure
(d) First Figure

Which one of the following is aef the rule

of syllopism 7

{a) A valid syllogism must contain cxactly

ihree terms.
(b) A wvelid syllogism may h.v. two
particular premiscs.
(¢} The conclusion of - va'd . llogism
- must be nega’. z ¥ e her of ts
premises is neg, tive '
{d} If the r.aju pre aise of a syllogizm is

a » .. tiv vlar proposition, the minor

m mise must be affirmative

. 'hich one of the following commits the
fallacy of undistobuted middic ?

(a)
(b)
(c)
{d)

IEQ in the First Figurs
EAQ in the Fourth Figure
ATl in the Second Frgure
AAAN In the Third Figure

In which of the following figures of
gyllogism, an affirmative conclusion is ket

possible 7
(a)
(h)
{c)
(d)

First and Fourth Figures
Second and Third Figures
Fourth Figure only

Second Figure only
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27. Which one of the following is a principle of
deductive logic ?

{a) [{ the conclusion is true and the
argument is valid, then the premises
must be true.

(b) If the conclusion is falzse and the
argument is invalid, then the premises
must be false.

() If the premiscs are true and the
argument is valid, then the conclusion
mnst be true.

(d) [f the premises are false and the

argument 13 then the

invahd,

conclusion must be falze.

28. Which vne of the tollowing failacies is
involved in the argument ‘No weaklings are
labour leaders, because no weaklings » e
true hiberals, and ali labour leaders 7 _ ‘tae
liberals® ?

fa} 1lheu major

(b) [hcit minor

(¢} Undistributed muddl
(d) No fallacy

29. If major , ™ ses is particular and minor
prem. ses .o cegative, then which one of the
fo.'v npis correct ? '

{a; The conclusion is vahid

(b} There cannot he any conclasion

{¢} The conclusion is negative propasition

{d) The
propositian

conclusion is  particular

30. The conclusion nf_a valid argument is

3l.

32.

_.}[]-

redundant when :

(a} 1ts premises are consistent
(b} its premises are inconsistent
{c) its premises are continge:”

(d} its premises are nec*-ar,

In the context of m -dern ogic, which ofthe -

following 7= e correct ?

1. P_ic tar- ropositions can be derived

."om e universal propositions.

2 Laiversal affirmative and universal

negaiive both cannot he false.

Select the correct answer using the code

given below :

(@) 1 only

(b) 2 only

(c) Bothland?2

(d} Neither ) nor 2

Which one of the following is the obverse

of “All men are morial™ ?
{a) No mortals are men
(b) Somc mortals are men
(¢} No man is non-mottal

(0 Some morlals are nol men

(Contd.) ~
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33.

34.

Consider the following argument :

‘Only the students securing more than 60%%
marks in1the qualifying examination will be
admitied 1o college Y, all the swudents of
college X have secured more than 60%
marks in the qualifying examination,
therefore all the students of collepe X wall
be admitied to college Y.

The argument commits the [allacy of :
(a) iilicit major

(b) illigit minar

{c) undistributed middle

{d) {ourterms

All events arc things describable by
philosophy.

All mental decisions are events.

All mental decisions are things desenibable
by phulosaphy,

The argument js

(a) tnconclusive

(by invalid

{v) wahd

{d) nota proper syllopism.

According to Joh, | adce, which one of the

Afollowing 15w, 0 ?

(a) Prim .

£ e gt and reflection

_owualities are derived from

(b} Trmomary qualities are the source of our
Ie CONSCIOUSNEess
{¢} Primary qualities are unchangeablc and
indistinguishable from the material
object
(d) Primary qualities are contingeat
features of the matenal object

36, Which one of the followiny is not the view
of Dcscartes 7

37,

3K

_12_

{a} Substance is that which is in itself

{b) Substance is that whichisin ilself and
18 voncerved by itself

(c) Subsiance is one and only < ne

{d) Subslance is “an cxiste. thin, which
requires nothing v . 1. F L ; order 1o

exist™.

Which one of the {ol, g is noracceptable

to Mydpa-Vase tha ™

(a) S ot ce fdravea) is the substratum
‘here ctions and qualities inhcre

0]  “ubstances al the moment of their
s ceation are not devoid of gualities

gither
{niravayava) or

2} Substance  is simple

compound
(avayavidravyas)

(d} Simple (#iravayava) substances are not
subject to production and destruction,
while the compound substances
Cavayeavi) are

Which one of the following is #o# irue about
the Mahavana Buddhists T

{a) Theadherents of the Mahdvana do not

believe in the reality of cxternal objects

{(b) They are of later origin than the

Hirayana sects

(c) The Mazhayang Buddhists talk about

the means for the individual liberation

(d) The Mahdydna claims to represent the
whole truth of Buddha’s teaching

{Contd.)
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392, Aquinas claims that :

H).

41.

{a) Being and cssence are identical in God

i.¢.; being 1s Ilis essence
|8

{b) Being and essence are not identical in

God 1.¢.; being is noi His essence

{c) Being and essence are partially

identical in God

{d) Being and essence are both identical

and differeni

According to Nydya-Yaisesika

{a) Conscipusness is the vssential guality

of the soul

{b) Conscloasness is the adventiti. 18

qualily of the soul
{£) Soul is pure consciousness

{d} <Consciousness is n A 2 gualdy of the

soul

Manas 15 ey tha. 1d atomic and cannot
come ant > o tact with several senses

sirui. e sly. This view is maintained by
o, Sankhva

(b} Mimimsa

(c) MNydva-iaisesika

{(d) Yoga

42

43,

44,

—14-

Which one of the following is mer acceptable
0 Buddhism ?

(a) Perception is devoid of name and
universal

{b) Perception is indeterminate in the first
moment and determinate in the next
mosncnt

{c) Theobiect of perception i1s alaxsana

(d) Svalaksama is not ~op.hended by
inference

Which onc of tl ¢ fol'owing statements

correctly definc. t-ath in terms of

correspons .. e ?

{a) Tru.h is wholly a matter of
corres,..odence with fact

Y Crat’. 15 wholly a matier of
~orrespondence wilth knowledge

{ v Truth is whoily a matier of
correspandence wilh beliel

{dy Truth is a correspondence between
judpment and fact '

Consider the following statements :

According to Spinoga :

1. Attribute is “that which the intellect
perceives as constituling the essence
of substance™

2. Thought and exicnsion are the two
attributes, known 1o men.

3.  Each of them {ihought and cxtension)
15 “infinite after its kind” but not
“absolutely infinite’” like God.

4.  Mind and malter are two subslances,
having attributes of thought and
extensian respectively.,

Which of the statements given above are
correct ?

{(a) | and 2 only
(by 1,2and3 only
{c) 3 and4only
(dy 1,2, 3and 4

{Contd.)

..
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frfafee § & 991 uF, ang 56 FF S
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(¢) w9 3T 4
(d) 1,2,3F7 4




45,

46.

47.

Which one of the following pairsis correct] ¥
maiched 7

{2) Erroris due o Prabhikara

COMMmIission

{b) Error is duc to
DIMISEION

Kunarila

{c) Errorisduetoa Nafy&y:‘ka
wrong synthesis of
the presented and the

represented objects

(d} Erroris dug to its Sankara

being describable

Coherence theory of truth argues that the
truth of a proposition :

{a} 15 a property of its logical coherence
with z body of propositions

{b) is bascd on verifiability theory
(c) consists in its applicability

(d) depends on the ne_ *ion of its
contradictory propos ‘.t

How does Carvak, o, -~ unt for the basis of
knowicdge 7

(a) Kr~wi-ag. 's possibie on the grounds
ul wercy, lioh, inference and testimiony

(.. “nowledge is due 1o direct realization
{saksatkdra}

(¢} Knowlcdge is due to six maodes of
Justification

{d) Sense-perception is the only source of
knowledpe

48.

49,

50.

-16—

Consider the following statements

1. MW oltains between substance angd
atttibute,

2. This is identical with the NMydya
Vaisesika Samavaya relation,

Which of the statements given at ov. is/are
vorrect about the relation of ¢ pre. rhsiudhi
as maintained by Ramatirva 7

{(a) ! only

(b) 2 only

(c) Both]and?2
{(d) Neith rl arr2

L

“.on ‘de, Lie following statements regarding
D ka a

1. Ma&vd is the Power of God.

2. Creation is nothing but a

superimposition ol diversity on the
Supreme Reality Brahman.

Which of the siatements given above is/are
correct ?

(a) 1only

(b} 2 only

(¢} Both! and?
{d} Neither 1 nor 2

Nominalism is a theory which says :

{a) thal eniversals are net real but are only
names or words.

(b) that universals are not names.

(¢} that universals are established on
reasots.

{d) that universals are concepts.

(Contd.}
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31,

52.

53,

54,

Which one of the following is »of acceptable 53.
to Plato 7

(a)

(h)
(c)
(d)

The concept is not merely an idea in
the mind, but it has a reality of its own,
independent of mind.

The concepts are objectively real.

The ohjective concepts are ideas.

The idsas are things, which are mutable 56.

and pernishable.

According to the Nyaya Vaisesikas,

Akasarva is not a jati because

{a)

(b
(c)
(d)

Akasatva does notexist in @kasa in the
relation of Samaviyva 57
Akasarva is not an eternal property |
Akdisa is one

Akasa is a vibhudravia (ubiquilo, s

substance)

According (o Aristotle

(a)

Universals arc subst me- 5

{b¥ Particulars arc substm. .

{c)

{d)

Th

Substances .= 1 :ither universals nor
particul 'T»

Subs. .~ ‘s the universal in particular

‘¥ -inciple of Sufficicnt Reason” is

1.onced oy Leibnitz -

(a)

10 explain moral judgments

(by todemonstrate the freedom of the will

{c)

to demanstrate God’s existenee

{d} 1o show that monads cxist

~18-

The Adveita Vedintins adopt the
anirvacamyakhyativida sccording to which
in the case of iHusion when we say ‘ihis is
silver’ wiith regard to a piece of shell, the
object of illugion is

(a) unrcal

(b

(¢) necither real nor unreal

real

{d) either real or unrcal

Who among the follo ving elieves that
‘error’ is not mir.ppren. L.ion but non-
apprehension ?

(a) Kumdrita

(b) Sank ra

(c) Fiavha -,

(dY . 'vayas

s e . List-T with List-I1 and select the
<L .ot answer using the code given below
the lists :

Lisif List-fF
{Theory of Truth) (Philosopher or
Spsiem)
A. An tdea is irue when 1. Descartes

it is conducive to
SUCCESS

B. An idea is true when 2. 1dealism
it conforms to the
facl
C. An idea is truc when 3. James
it is consistent with
the system of weil

accepied ideas

D. An idea which is 4. Locke
clear and distinct is
true
Cade !
A B C D
2) 3 4 2 1
(by 4 3 1 2
¢y 3 4 1 2
d 4 3 2 1
(Contd.)
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56.
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(a) T

(b) Hq
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¥

A B C D
(a) 3 4 2 1
by &4 3 1 2
ey 3 4 1 2
dy 4 3 2 1

(Contd.)
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39.

60.

&1,

62,

How is the knowledge of negation (abhdava}
accounted by the Advdira Vedantin 7

{(2) By means of sense-perception
(b) By means of inference

(¢} By means of revelation

(d) By means of non-apprchension

‘The Atman by itself has no agency
(ehartd)”. Whose view is this ?

(8} The Naivayikas

(b} The Advdita Vedantins
(¢} The Faisesikas

(d} The Mmnamsakas

According to Spinoza man is not free

because ;
{a) Map s made in the image of God
by World is mecchanistic

{e) Ewverything in the universe necessarily
follows from nature of God

{d) Manis sinful

According to Fiaanavdda Buddbis., e
meaning of prdiala is
() matter

) life
(¢) subjective consriousnes..
{d) absolute con ~ioL mess

Which one o the © 'towing is acceptabie

10 Berkeley

{a) 5 baun e exists independently either
~s y hysical or as spiritual object

(v Jubstance is the compiex idea of
puysical or spiritual object

{¢} Substance is the unknown substratum
inwhich the cbservable qualities of the
object inhere

(d) Substance cannot be material since the
sense-qualities belong to one’s own
mind or in the minds of other gpirits

63.

o4

&3,

-20-

Consider the following statemens -

1. The way to nirvara lies through the
faithn jira, knowledge ol his doctrine
and perfecet conduct.

2. The Jaina ethics lay stress onboth faith
and works.

3. The ethical systemn af'the 1aina. is more
ngorous than that of P da, sts.

Which of the staiements =iven 1bove is/are
correct in Jaina elh’ :5 ¢

(2 1only

(k) land " op y
{cy 2-.15 b
dy 1,7am 3

Co sicer the {ollowing with reference o

Oanahiji -

1. Means arc essennally of instrnental
value.

2. Means are no less importani than ends.

Which ef the above statements is/are
correct ?

(a} 1only

(b} 2only

(<) Bothl and2
(d} WNeither 1 nor 2

Eight-fold path of the Buddha is known as
the ‘middle path’ because il -

{a) does not attach too much importance
to knowledge

(b) attaches ecqual
knowledge and conduct

importance to

{c) isapen o the clergy and the laily alike

{d) awvoids sclf-indulgence as well as scif-
mortification

{Contd.}
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67.

08,

Which of the following are included in the
Eight-fold path of Buddhism ?

1. Righl knowledge

2. Right resolve

3. Right charity

Sclect the correct answer using the code
given below !

{a) 1and3 only
(b) 2 and 3 only
(<) 1and2 only
{dy 1,Zand3

Which of the following are included in the
twelve links of the doctrine of Dependent

. Cripination ?

1. Avidyd and Samskara

2. Nama-riipa

3. Raga-dvige

Selecl the correct answer using the code
given below :

(2) land3only

(b} 2and3 only

(e} 1and 2 only

(dy 1.2and3

Which one of th~ fo o 2 1s mef acceptable

in the GIa % cu wep, of miskamakarma 7

{a) Theag . zoncern is solely with the
ac. on, .. .ver with its fruits.

{"V  The follows no result from the aclion
« DE.

{c) The results cease to be ends because
they are not destred.

(d) Therc can be no end concejvable apart
from desire.

69.

70

In Jain ethics, #riraina refers to :

(a) samyak dardana, samyak jfiagra and
samvak caritra

{b} samyok smrti, samyak jAdng and
samyak carifra

(c) samyak dardana, samyak smrii and
samyak Caritro

(d) samyak darsana, samy~« jaowg and
Samyak spirti

Who of the following "2l -nor 1 judgments
10 be non-copnitive ?

1. AT Aver

2, C.L. 5 eve son

Sclect 5~ rres. answer using the code
given elow

(r; o,

(o) 2 Laly

fc) Bothland?2

{«) Weither | nor 2

Maich List-1 with List-11 and select the
correcl answer using the code given below
the lists :
Lisi-f
(Concepr)
A, Moral judpgments
are cither trug or
false

Lisi-ff
fDactring}
1. Prescnptivism

B. Moral conflict is 2. Descriptivism
rationally undecid-

able

C. Moral judpments 3. Emotivism
have action-guiding

function
Code :
A B C
fay 2 3 ]
O
€y 2 1 3
1 3 2

(Contd. )
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72, Acecording to Kant, we ought to treat

73.

4.

humanity :

(2} Sometimes as an end
{b} Neveras an cnd

(c) Always as a means only

{d) Never as a means onty

According to Kant, moral law is

{2} a priori, and based on reason

(b) @ priori, and not based on rcason

{€)} a posteriori, and not based on reason

{d} & posieriori, and based on reason

Wilh refercnce to Kant, consider the

following staterments :

I. Good will is good when 7. s

accompanied with happiness.

2. Good will does not need anyu: .., ~lse
to be good.

3. Any action done with hu_ler feclings
is right.

4.  Actions !1s.' on reason only are
right.

Which « ¥ the  tatements piven above are

COrrey ! o
() 2 .ad 4
(b) 2 only

rrding to Kant ?

{c) 1and4ocnly
(d) 2and3

15,

70.

77

~24-

Constder the following pairs -

1. The only proof that Miil
a thing is desirable is
the fact that peopic
actually desire it
2. The greatest happiness : Bre'waite

of the greatest number
18 the criterion of
morality

Which of the pairs oi\ »n a ove is/are
comectly matched 7

(a) | only

{b) 2 only

¢} Betllind”
(d) N sther ! nor2

For aty _.arians, what is a morally good
reas... for breaking a promise 7

(a; You have other things to do.

{b} No one is obliged to keep promises.

{c) Worse things will happen by keeping,
it.

(d) Yoeu think that you should not have
made 1.

Constder the foliowing statements :

Bentham’s view of ulilitarianism is {aulty
bocause :

i.  Pleasure is the aim of ail actions.

2. Justice cannot be accommodated in his
View,

Which of the statements given above is/are

correct ?

{a) 1 only

(b) 2 only

{c} Both!and?2

{d) Neither 1 nor 2

{Comd.)
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79

80,

8l

Consider the following :
1. Right means according to rule.

2. Right iz maore fundamental than Good
according to G.E. Moore.

3. Concept of right is relevant to
Deconlological theory.

Which of thg stalements given above are
correct ?

{a) 1 and?2?only
(b) 2and 3 only
{c} 1and3only
(dy 1,2and3

Cunsider the following statements : 23,

1. Lifv is worih living.

2. Dhrth and death are (he two ends of life.
Honesty is onc of the primne virtues.
Akbar was not the first Mogul emperor.

Which of the statements given above are the
staicmenis of value ?

(a} 1 only

(b) 1.2, 3and 4
(c) 2,3and 4 only
{d} 1and3 only

Which one of the following s » ¢ »

statement of value ?

(a} Honesty is the best po’'_ -

(b} We believe honesty 1 b the best
policy

e} Never indulge ir dishrvesty

fd} Leius ﬂll_lhﬂ Lo

Which one ~f'tk » lollowing is not acceptable
o Psycholo e Hedonism ?

(@) A wo. - 'lhuman responses, however
~1avistic are ultimailely based on
. =1, Ness,

- sense of having done something
worthwhile is also for selfish motjve,
To get minimum satisfaciion one
should act also in olhers interest.
‘Beilfishness’ does not refer so much
o the expected outcome, but to the
motivation.

B

(b)
(c)
(d)

- 26—

82.

84.

‘Every helpful person who is apparently
trying to do something for you is infact
doing something for himself or herself
instead—you are simply being madc the
occaston of that person’s happiness.” This
view is adopted by which one of the
following ?

{a) Utililarianism

(b) Hedonism

(e} Egoistic Hedoniam

(d)

Tmotivizm

Consider the followw.; ~ atements .

I.  The w'am ¢ e d of non-viclence is
surcst CLtor |

2. Mom-vislence may not always be a
"n, e al principle.
/b ch _[ the statements given above are
Gan, aji’s views on Ahimsa ?
i.) 1 only
{by 2 only
(c) Bothland2
(d) Neither | nor 2

Consider the following statements :

1.  Ordinary moral cotisciousness reveals
that the ethicat value of an act does not
depend on external effects.

2. Good will states only the form which
the will must assumc in grder to be
oood.

3. Freedom can be found in the world of
phenomena only.

Which of the stateménts given above
carrcetly represent Kant’s position ?

{a) 1,2and3
{b) 1and2only
{c} 1 and3 only

(d) 2and3 only

(Contd.)
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1 we A e & e
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(b) Waw 2 #t 3
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80,

Bl

ajgﬁﬁﬁﬁﬁ-mxémwmm
B2 7 |
(a) Fa 1

() 1,2,344

(c}) Fae 2,3 3T 4
(dy Fae 13T 3
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T 7
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(@ 1,283

(b) 3 1 & 2

(c) Faw 1 AT 3
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{(Contd.)




85,

86.

87.

88,

Consider the following statements :

1. The morsl apent is free in what she
does.

2. She can not justifiably be praised or
blamed for what she does freely.

Under the Compatibilist notion of freedom
of the will, which of the statement(s) given
above is/are correct 7

(a) 1 only

(b) 2only

(¢} Both 1 and?2
(d) NMeither 1 nor 2

The meaning of freedom of will is
{a} No restriction whalsoever

{b} Toobey one’s desires

{c) To obey divite commands only

(d) To abey the command of Reason

The freedom of will rejects

(g) freedom of choice ~vitl.o ¢
predictability of human acti o

() freedom of choice r=~mpal bie with
prediclability of hw 127, ac'ion

(¢) responsibility for actic.. produced in
accordance ~it ala s

(d} we ourscive. are free apents bound
only v e laws of morality

1f de. np. 'sm s true, which one of the

fo. - »n g s 1nconsistent with it ?

(a, “loral words are descriptive in
nmeaning.

(b) The criteria ef application of moral.

words are descriptive.
{¢) Dwescriptions are evaluations.

(d) There are moral facts.

£9.

94,

SI.

Consider the following statements :

1. Moral judgmenis prescribe rather than

describe.
2. Moral judgments express attitudes.

3. Moral jJudgments are nol
unliversalizable.

4, Moral properties are super -« nich. "pon
non-moral ones.

Which of the statements _. =n.hove isfare

acceptable to R.M. Han - 7

{(a) 1,2 and4
{b) 2Zand3
{cy 2Zand .o ly

fdy 1anc 4 onl-

Whic * one of the following is nof true of

sav . davana (meditation) ?

(v loncentrating the mind on the
gyllablcs of Jaina prayer phrases.

(b} To make the mind stcady by dhvana,
one should think of meirri (universal
fricndship).

{c} Cne should have universal compassion
{karund).

{(d) Jaina yera is not different from the
traditicnal Hindu yoga of Patanjali or
even of Buddhism.

Which of the foliowing kasdvas (passions)
with regard 10 Jainism are considered as the
major kasayas (passions) 7

1.  Krodha (anper)

2. Lobha (greed)

3. dvésa (jealousy)

Select the comect answer using the code
given below :

(a) 1and3only
(k) 2and 3 only
{c} l.2and3

(d} 1 and-2 only
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{Contd.)




92, Consider the following combinations :

93

91,

1. Astéya aparigraha, niyama
2. Ahivsd, Brahmacharya

3. Manana, mudita, upéksa

4. Astéya, aparigraha, satya

Which of the combinations given above are
acceptable in Jaina ethics 7

{a) land2
(b)Y Zand 4
fe) 2and3
{d}y 1and4

The main content of Emotivism is that -

{a) there is a ralional method to settle the
disagreements in ethical judgments,

(b} there is a rational method to settle the
disagreements in judginents of interest.

(¢) thercisno rational method to settle ae
disagreements in ethical judgp-nts,

(d) thereis a rational method 1o ate .
disapreements in judgmen s of . [ ef,

What is the correct seceaence of the
foltowing links [rom he Joctrine of
Dependent Origina on 7

1. TsmE (thirs 1w 2nse enjoyment)

2. Vedani fsen.  experience)

3. “maray. nse-object-contact)

4 Tpada.iz (clinging to sense-enjoyment)
Se.=cL ne correcl answer using the code
give. below :

fa) 1.2-3-4
by 2-3-1-4
() 3-2-4-1

(@) 3-2-14

95,

96,

OX.

9.

According te Kant, the moral warth of an
action is determined by

{a) the nature of the motive behind the act

(b) the amount of prosperity gained by
means of it

(c) the approval of society
{d) the consequences it lea s

Who ameng the follr ».. 9 | “ilosophers
observed that man iz not } st de facio a
certain kind of "eing w..a certain given
desires, butitisse ey wupto™ him what
kind of beine he is poing ta be ?

{a) Kan:

(b) saizh T .orlin

=} “Mor .o fleidegger

('} “urt Baier

“Sthitaprajifia” literally means “Steadfast

intellect™. Which one of the foltowing best

exemplifies 1 7

{2} One who is attached to the infinite

(b} One who is detached from all that is
finite

{c) Onewho isnot aflected by the joys and
SOITOWS

{(d} Ong who was overcome one’s passions

In Jainism, the word “nérjard’ stands for :
(a) influx of karma

{b) bondage due 10 influx of karma

{c} stopping of the influx of karma

(d) removal of karma

Duklhasemuddya’ for Buddha means
{a) Everything is sormow

(b} Sorrow is of different kinds

{c} Sorrow, like everything, has a cause

{d} Sorrow is human destiny




92

93,

94,
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93.

96.

9,

23.

9.
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(a) w7
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(ﬁz -Si -ty

“Rqoym T e o B OTRE o
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w5 7
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{(Contd.)




100. Samyak karminte, according, to Buddha,

101.

102.

103,

consists in desisting from ;

{a) sicaling

{b) destroving life

{c) improper gratification of the senses

{d) All of the above

The doctrine of niskdmakarma teaches
fa) inaction

(b} withdrawal from action

(c} indifference to results of action

(d) aliruistic action

The Eight-fold path gives us an ideal picture
of the Buddhist ethics. Which onc of ihe
following gives us the highest good, the
sumimum bopne 7

(8} Samvak-drsti

(b} Samvak-karminia

(c} Samyak-sere

(d} Scmvak-darita

The secondary qu- lities o. a physical

objeet, accordii . 1. Locke, are those

properties wr'c._

{(a) actua . wough only cﬂnlingentlf,
b le.. o the physical object

(b) «~ of secondary importance in
* nderstanding the nature of physical
objecis

(¢) do not actually figure in the list of
defining properties of physical objects

(d) aciually belong, not to physical objects,

but to our experience of them

—-32-

104, Which one of the following stalements

tegarding substance is associated with
Berkeley ?

{a) There are things called substances, but
they are unknowable.

{b) There are things called substances, and
they are not mere ideas.

{c) There are things called sub .. uces, but
they are nothing more t. n idw °s.

{d) There is no God as "l  n of ideas.

105, Consider the follow .. sit=r cnts :
The samavdye rela. on hi 1ds between :
1. substance and atimoute.
2. partic lar ard universal.

Whick . the =t= sments given above isfare
corres ' 7
I’" 2 1 L. L-.
W 2 oaly

ic} doth)and2
1) Neither 1 nor 2

06, For Myaya, *God’ (Isvarw)is .
(a) Aimnan
(b Brahmarn
(c) Purusa

(d) Hiramyagarbha

107. Match List-1 wnh List-1I and select the
correct answer using the code given below

the lists :
List-I List-IT
fSubstance) ({uaiity)
A, Amman 1. Sneha
B. Prehivi 2. Sabda
C. Jala 3. Gandha
. Akdfa & ffana
Code
A B L D
(@ 2 3 1 4
® 4 1 3 2
cy 4 3 1 2
2 1 3 4

{Contd.}
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138. The Buddhist denial of an eternal substance,
spirtiual as well as matter is called -

109,

P10,

ill.

(a) Sanghatd vada
(b)
(c) Pudgala nairiimya vida

(d)

Narvasfi wida

Vijidnavada

Buddhists do nrot accept pudeaia as the

essence of a living being hecause :

{a) pudgala posscsses consciousness but
not activity

(b) such an essence should be permanent

but nothing is permanent

(¢} pudgala consists of material particles
but actually the essence of a living
being is consciousness

(d) pudgala is accepled by Jainas, s
Buddhists cannot aceept it

if a Carvika accepls an inferenc. =~ will

be because

(a} its conclusion is verifi ' Uy perception
(b)
{c)
(d)

itz conclusi. . ¢ ves nis self interest
it is ne. ns = ot with Vedas

inferc . = an independent pramiana

‘C .o isnon-eternal as it ts audible® is an

£a. ™ e of

(a) Svarapasiddhi hervabhdsa
(b) Badhita hetvabhdsa

(c) FViruddha hervabhasa

{d) Anaikantika hervabhisa

-34-

112,

113,

14,

115.

The Upanisadic statement *Tat tvam asi’
{Thou art that) gives the knowledge of
Atman-Brahman identity through a
particular semantic function of the words
in the statement, That semantic function,
according to Advaita-Vedaniins, s

(ay Abhidha
(b} Laisani
{¢) Wadsana
(d) Taiparya

Advarta-Nr aax 2 ad nils -

{a) sv~to’prd ndnya  and  svalah
oran nva

b} svacahpramdanya  and  paratah
ipramana |

(¢} paratah primdnya and svalah

apramarnva

{d}

paratah pramanya and paratah
apramanyva

According to Advaita Vedanta, Anupalabdhi
is

{2) merely a kind of pratyaksa
{b)
(c)

merely a kind of anumang

a combination of both pratyaksa and

aBumang

(d}

an independent pramana

Correspondence theory defines truth in
tlerms of the relation between a statement
and

(a)
(b} other statemenis
{c)
{d)

its practical utility »

an acluzl state of affairs

the mental state accompanying it

{Conid))
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irecfions —

6.

The following 5 (Five) iterns consist of
two statements : one labelled as the
*Assertion {A)" and the other as ‘Reason
(R}

statements carcfully and select the

You are to examine these two

answers to these items using the codes

given below ;
Codes -

{a) Both A and R are mdividually true
and B 15 the correct explanation of
A

(b} Both A and R are individually true

but R is sef the correcl explanation
of A

(c) A is true but R is false

(dy A is false bt B is mrue

Assertion (A): Trilitional Square of
LU'p, - ition 15 rescued
m..ier Roolean

Interpretation.

RBeoses R) All the standard-form
cateporical propostions
presuppose that the
classes 1o which they

refer are empiv.

=36

117. Assertion (A) :

Reason (R}

118. Assertion (A):

Reason {R)

17 Agerion (A):

Reason (K}

120, Asserlion (A} :

Reason (R)

Conversion of A
proposition o A
proposition is invalid.

Conversion of A

proposition  involves

conversion by 1 miw Hon.

Syllog im is wt valid by

vit.ae oy 7 form alone.

At, ' sv) ogism having the
same form as vahd
yllogism will also be
valid.

If the categorical premise
affirms the truth of the
antecedent of  the
conditional premise and
the consequent of that
conditional premise is the
conclusion  of the
argumment, the form is
valid.

The argument form

contains a conditional
premise.

Emotivism 15 not

acceptable.

it fails Lo account for the
connection . between
morality and reason.

(Contd.)
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